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so in the future. Continued vigilance
in promoting the best interests of
education, and likewise those of
educators. The whole question rests
with the teachers themselves, if they
be true to one anotiier and carnestly

enter into the natter, victory will
theirs, though the fight nay bc lo
and doubtful, but if they bc indiff
ent or supine the end can easily
forecast.

" Let us arise and build."

SCHOOL WORK.

MATHEMATICS.
Ancmnar.n IACvuRctiv, M.A., Tonoro.

EntTron.

UNIVERSITY OF TORONTO.
ANNUAL EXAMINATIONS, t886.

Firsi Examination.

ALGRBRA ANID TRIGONOMETRY.

Examiner-J. W. Reid, B.A.

i. Solve the equations,

(a) x +y+xy=x 1, x*'y+xy' =30.

(b) =a. -=, -=c.x y z
2. To complete a certain work A re-

quires ni times as many days as B and C
together; B requires n times as many as A
and C together, and C requires p times as
many as A and B together; compare the
times in which each would do it; and prove

-I I I
that + ai+ r

3. If a: b=c: d; shew that

(a- )(a-c)

I_ i i I_ (a-b>)(a-c>
a+ db+ c abc

4. When is a series ofquantities said to be
in Geometrical Progression ?

Find the sum of such a series.
Prove the rules for reducng the various

kinds of decimals to vulgar fractions.
5. Given x and y, the ist and 2nd terms

of an Harmonical Progression, continue the
series, and write down the nth term.

There are 4 numbers, of which the first 3
are in Arithmetical Progression, the last 3 in

larmonical Progression ; shcw that the
rat : 2nd = 3rd : 4th.

6. Deine the trigonometrical ratios of an
angle, and investigate the different relations
existing between thein.

If tan A-=i, find the values of the other
relations.

7. Determine the angle A from the equa.
tions

(a) 2 sin 4 = tan A.
(b) tan A + cot A = 4.
8. Prove the formulae :

sin (A - B) = sin A cos B - cos A sin B
sin (A - B) sin C + sin (C-A ) sin B + sin
(B - C) sin 4=o.

9. If 4, B and C are the angles of a tri.
angle, prove sin 24 + sin 2B + sin 2C= 4
sin A sin B sin C.

o With the usual notation for the sidu
and angles of a triangle, prove

b% + c2 - a'
cos A=- - &

sin (A - B) a'- b*
sin C c °

iî. If s= .-. 2 prove that the arexof

the triangle whosè sides are a, b, c, is

.r(s- a)(s - b)(s-C).
Shew that the same area is also equal Co

1 (a+b+c)4 tan J A tan i B tan J C.

Firsi and Second Exaninations.

LATIN AND GREEK GRAMMAR--PASS ONL.

Examiner-Geo. H. Robinson, M.A.

i. Decline in combination, il/c cdekr
ductor ; d'ya. ßntnAXEuç.
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